
SGBox v1
License:
Creative Commons Attribution-NonCommercial 3.0 Unported License.
https://creativecommons.org/licenses/by-nc/3.0/

3D printed parts

Name Material Quantity File

wall-holder-two 3d-print-PLA 1 3d-print-PLA-wall-holder-two.stl

corner-arm-holder 3d-print-PLA 1 3d-print-PLA-corner-arm-holder.stl

arm-wrist 3d-print-PLA 1 3d-print-PLA-arm-wrist.stl

piz-holder 3d-print-PLA 1 3d-print-PLA-piz-holder.stl

zero-cam-holder-screws 3d-print-PLA 1 3d-print-PLA-zero-cam-holder-screws.stl

arm-short 3d-print-PLA 1 3d-print-PLA-arm-short.stl



SGBox v1
License:
Creative Commons Attribution-NonCommercial 3.0 Unported License.
https://creativecommons.org/licenses/by-nc/3.0/

Additional parts

Name Material Quantity File

m3-square-nut m3-square-nuts 1 Found in common hardware stores

m3-square-nut m3-square-nuts 1 Found in common hardware stores

Name Material Quantity File

screw-m3x16mm screw-m3x16mm 1 Found in common hardware stores

screw-m3x16mm screw-m3x16mm 2 Found in common hardware stores


